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If two vectors A = 3i—j + k and B = 4i + o -2k are perpendicular to each

other then the value of ‘o’ will be .....

3% 96 (%7 A = 3i — j + k 932 B = 4i + 0 -2k 9 9@ THF 9 W@ ‘o T

If V(1/r) =-r/r3then the value of V(1/r?)is.....

I V(1/r) =-r/r3e@ V(1/r5) .99 2T .....

Value of the integration [A x (d?A/dt?)dt is .....

JA x (d2A/dt?)dt 9% STFAd T 2T ...

Which of the following defines a conservative force F ?

@6 RARF® F F a7 @&f78 ?

If Ais a vector the equation [[[(V.A)dv=[[A.dSisastatementof.....
% A 936 (ETT W OE [[f (V. A)dv = [[ A . d S 93 THFFAMG (FT SN ?
The value of |AxB |2+ |A.B|?equalsto.....

|AxB |2+ |A.B|292 6T I = .....

Find the work done is moving a particle in a force field F = 8xyi —j along
thepathx=tandy=t>fromt=0tot=1is.....

AFH FNITFaF = 8xyi — j TN x =t IRy =2 ¥t =0 to t = 1 FNF (5
IS FO 3G ?
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If ep=icosd +jsing and ey = — ising + jcos¢ then dey/dt will be .........
I e, -icosd +Hjsind 972 ey = — ising + jcosd & de,y/dt T ?

The necessary and sufficient condition for the first order differential

equation P(x,y) 0x + Q(x,y) 0y = 0 to be exact : .....

Y T ATFA TAFT P(x,y) 6x + Q(x,y) dy = 0 & Ty 28T SF(F 9%

First property of orthogonality relation of Legendre’s is given by
J2 Pn(x)Pm(x)dx = 0 for ...

Legendre’s Q@ s1e o Wﬁﬁﬁf_ll Pn(x)Pm(x)dx = 0 & TS
IS ?

The equation is called d2y/dx? - 2x(dy/dx) + 2vy = 0 (where v is a

non-negative constant)

9% YRIFFT d2y/dx? - 2x(dy/dx) + 2vy = 0 (@ v 93TC SRUTRF §3F)

A problem in electricity is given to three students A, B and C whose
chances of solving itare 1/2, 1/3 and 1/4 respectively. What is the
probability that the problem will be solved ?

236 ©f%s 97 77 fSTae =@ A, B 93 C (F (W31 2, Ramd A ST $IE
SRR IFE 1/2, 1/3, 932 1/4 | 76 TN 28TF NEAT F© ?

The solution of the differential equation d2y/dx2 =x is .....

d2y/dx? = x 9% AIFT FNFFAOF TARTT 27 .....

The Fourier series for the function f(x) = x2 for - ms<x<m is
x2 = ©?/3 -4 (cos X — c0S2X/22 + €c0S3X/32 ..ccvvrurnnn ). The value of
/12 s .....

semE f(x) = x2 97 - TSX<m S FESF @A T x2 = X3 -4
( cos x - cos2x/22 + cos3x/32 ...)| ®@7¥/12 aF N 2 ...



